Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 0%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;*voou=305136Q o _ g _x,. ety - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12
YOOL

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 0%_Faeit Pl =(L* =% )/ (G -L*n)
Buntton: h* 1006=92/360;1* goor=272/360,,,

amat —aty ~ e [afw - @'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L*T Crapalata +b%’ ]

JO0G

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LGAO;.REB dls_play 0,6%:Fadlr_| Pl =(L* —L*N )/ (Cw-L*n)
BuNtON: 00, =96/360:1*voom=305/360%x v _ a4 s [ 2y = a*y |
b*a=b* —b*N = japr [b*w ~b*\ ]
Helligkeit L* T Crapglata’ +b%a] M

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 0,6%_Faeit Pl =(L* =% )/ (G -L*n)
Buntton: h* 1006=92/360;1* goor=272/360,,,

amat —aty ~ e [afw - @'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L*T Crapalata +b%’ ]

JO0G

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
S e e )
: h*yooL= i*voom= Qe =a - ay = e [y -2 ]

b*=b* —b*y = a0 [ b*w —b*y ]

Helligkeit L*T Craparlata +b% 12
YOOL
o
— 1_*_,_,_,*/
~

C*apam
L*wm)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 1,2%_Faeit Pl =(L* =% )/ (G -L*n)
Buntton: h* 1006=92/360;1* goor=272/360,,,

amat —aty ~ e [afw - @'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L*T Crapalata +b%’ ]

J00G

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 2,5%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;1*voou=305136Q o _ g _x,. [ aty - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 2,5%_Faeit Pl =(L* =% )/ (G -L*n)
Buntton: h* 1006=92/360;1* goor=272/360,,,

amat —aty ~ e [afw - @'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L*T Crapalata +b%’ ]

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 5%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;*voou=305136Q o _ g _x,. ety - aty ]

b*=b* —b*y = a0 [ b*w —b*y ]
Helligkeit L* T Craparlata +b% 12

YOOL

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 5%_Faeit Pl =(L* =% )/ (G -L*n)
Buntton: h* 1006=92/360;1* goor=272/360,,,

amat —aty ~ e [afw - @'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L*T Crapalata +b%’ ]

J00G
—
o
(C*abam
L*m)

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 10%_Fadin

Buntton: h*yoo, =96/360;n*voou=305/36Q:

Helligkeit

L*

Pap=(L* =L*n) / (w-L¥n)
—atn e [atw @iy ]

b*a=b* —b*y — '*l;n* [ b'zw ‘/Zb*N]
Cranrl s’ +b%’1

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 10%_Faeit Pl =(L* =% )/ (G -L*n)
Buntton: h* 1006=92/360;1* goor=272/360,,,

amat —aty ~ e [afw - @'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L* Crapalata +ba"]

JO0G
—0

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 20%_Fadin Pl =(L* —L*N )/ (Cw-L*n)

Buntton: h*yoo, =96/360;*voou=305136Q o _ g _x,. [ ety - aty ]

b*a’b* b*N = apr [b*w —b*\ ]
* 24 b
Helligkeit L* Capal @a” +b%a

2,112
1

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 20%_Faeit Pl =(L* =% )/ (G -L*n)
Buntton: h* 1006=92/360;1* goor=272/360,,,

amat —aty ~ e [afw - @'y ]
b*a=b* —b*y = '*l;n* [ b'zw ‘/Zb*N]
* =[ a*. * 1
Helligkeit L* Crapalata +ba"]

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
LG40_sRGB display 40%_Fadin

Buntton: h*yoo, =96/360;n*voou=305/36Q:

Helligkeit

L*

Pap=(L* =L*n) / (w-L¥n)
—afy ~Faps [afw —aty]

b*a=b* —b*y — '*l;n* [ b'zw ‘/Zb*N]
Cranrl s’ +b%’1

Buntheit C*ap o




Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)

;GAO}»REB dls_play AD"I/o:Fae\l_ Pl =(L* =% )/ (G -L*n)
untton: 1 100=92/360311 a00r=2721360;+ s _ ey~ ap: [ 2ty ~a ]

b*a=b* —b*N = japr [b*w ~b*\ ]

Helligkeit L* CeAler sl

112

Buntheit C*ap o




